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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1) narjmWu gd©àW_ AnZo àíZ nÌ na AnZm Zm_m§H$ A{Zdm ©̀V… {bI|&

Candidate must write first his / her Roll No. on the question paper.

2) g^rg^rg^rg^rg^r àíZ A{Zdm ©̀ h¢&

All the questions are compulsory.

3) àË òH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m _| hr {bI|&

Write the answer to each question in the given answer-book only.
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4) {OZ àíZmo§ _| AmÝV[aH$ IÊS> h¡§, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

For questions having more than one part, the answers to those parts are to be
written together in continuity.

5) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&

Write down the serial number of the question before attempting it.

6) àíZ nÌ Ho$ {hÝXr d A§J«oOr ê$nmÝVaU _o| {H$gr àH$ma H$s Ìw{Q> / AÝVa / {damoYm^mg hmoZo na {hÝXr ^mfm
Ho$ àíZ H$mo hr ghr _mZ|&

If there is any kind of error / difference / contradiction in the Hindi & English
versions of the question paper, the question of Hindi version should be treated
valid.
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IÊS> - A
SECTION - A

1) ~hþ{dH$ënr àíZ (i go xv)…
{ZåZ àíZm| Ho$ CÎma H$m ghr {dH$ën M¶Z H$a CÎma nwpñVH$m ‘| {b{IE&
Multiple Choice Questions (i to xv) :
Choose the correct option and write in given answer book.

i) AÝVaU H$m ‘hÎd h¡ - [1]
A) loð> {Z¶ÝÌU ~) à^mdr à~ÝY
g) erK« {ZU©¶ X) erf© à~ÝY H$mo amhV
Importance of delegation is -
A) Better control B) Effective management
C) Quick decision D) Relief to top management

ii) gm‘mÝ¶V… à~ÝY Ho$ ñVa h¢ - [1]
A) nm±M ~) Mma
g) VrZ X) N>…
Generally levels of management are -
A) Five B) Four
C) Three D) Six

iii) {Z¶moOZ H$s {deofVm h¢ - [1]
A) g‘Ýd¶ ~) {ZX}eZ
g) ^{dî¶dmXr X) {Z¶ÝÌU
Characteristic of planning is -
A) Coordination B) Direction
C) Futuristic D) Control

iv) g§JR>Z à{H«$¶m H$m àW‘ H$X‘ h¢ - [1]
A) H$m¶© H$s nhMmZ d {d^mOZ ~) {d^mJrH$aU
g) H$Îm©ì¶mo H$m {ZYm©aU X) [anmo{Q>ªJ
The first step of organising process is -
A) Identification and division of work
B) Departmentalisation
C) Assignment of duties
D) Reporting
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v) à{ejU H$s Am°Z X Om°~ {dYr h¢ - [1]

A) Mb{MÌ ~) gå‘obZ

g) g‘ñ¶mË‘H$ AÜ¶¶Z X) {ejU
On the job method of training is -

A) Cinema B) Conference

C) Case study D) Coaching

vi) {dnUZ {‘l Ho$ KQ>H$ "‘yë¶' ‘| gpå‘{bV h¢ - [1]

A) OZ-gånH©$ ~) n¡Ho$qOJ

g) {dkmnZ X) ‘yë¶ ñVa
The element of marketing mix are involved in 'Price' is -

A) Public relation B) Packaging

C) Advertisment D) Price level

vii) A{^àoaUm à{H«$¶m H$m ApÝV‘ MaU h¢ - [1]

A) AmdoJ ~) Amdí¶H$Vm gÝVw{ï>

g) VZmd ‘| H$‘r X) VZmd
Final step of motivation process is -

A) Drives B) Satisfied needs

C) Reduction of Tension D) Tension

viii) ‘mñbmo Ho$ AZwgma ‘Zwî¶ H$r ApÝV‘ Amdí¶H$Vm h¢ - [1]

A) emar[aH$ ~) AmË‘ gÝVw{ï>

g) gå‘mZ X) gwajm
The last need of human being according to Maslow is -

A) Physiological B) Self actualisation

C) Status D) Safety

ix) à^mdr gåàofU H$s ‘Zmod¡km{ZH$ ~mYm h¡ - [1]

A) Agm‘{¶H$ ‘yë¶m§H$Z ~) nXdr

g) {Z¶‘ X) g§JR>{ZH$ Zr{V
The psychological barrier of effective communication is -

A) Premature evaluation B) Status

C) Rules D) Organisational policy
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x) {Z¶ÝÌU à{H«$¶m H$m àW‘ MaU h¡ - [1]

A) {ZînmXZ ‘mZH$mo H$m {ZYm©aU ~) {dMbZmo H$m {díbofU

g) dmñV{dH$ {ZînmXZ H$s ‘mn X) gwYmamË‘H$ H$m¶©dmhr

The first step of control process is

A) Establishment of performance standard

B) Analysing deviations

C) Measure of actual performance

D) Corrective action

xi) {dnUZ {‘l Ho$ KQ>H$mo H$mo ............. dJm} ‘| {d^º$ {H$¶m Om gH$Vm h¡ - [1]

A) nm±M ~) Mma

g) VrZ X) Xmo

The elements of marketing mix can be classified into ________ categories.

A) Five B) Four

C) Three D) Two

xii) H$m¡Zgm A{YH$ma ì`mdgm{`H$ \$_m] H$mo AnZo ñd §̀ Ho$ Cn^moŠVm godm d {eH$m`V gob ñWm{nV H$aZo H$s
ñdV§ÌVm àXmZ H$aVm h¢ - [1]

A) gwZdmB© H$m A{YH$ma ~) gyMZm H$m A{YH$ma

g) gwajm H$m A{YH$ma X) {ejm H$m A{YH$ma

Which consumer right gives the business firms freedom to set up their own
consumer service and grievences cell?

A) Right to Heard B) Right to Informed

C) Right to Safety D) Right to Education

xiii) {ZU©¶ boZo ‘| ghm¶H$ h¢ - [1]

A) ~OQ> ~) {Z¶‘

g) {Z{V¶m± X) à{H«$¶m

Help in determining decision is -

A) Budget B) Rules

C) Policies D) Procedure

[ Turn Over
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xiv) Q>oba EH$ ............ Wm - [1]

A) Bbo³Q´>rH$b B§Or{Z¶a ~) IZZ B§Or{Z¶a

g) boImH$ma X) ‘¡Ho${ZH$b B§Or{Z¶a

Taylor was a/an ________.
A) Electrical Engineer B) Mining Engineer
C) Accountant D) Mechanical Engineer

xv) ‘mZ{gH$ H«$m§{V H$m ‘ybmYma h¢ - [1]
A) g§¶moOZ ~) gm‘mÝ¶ à~ÝY
g) d¡km{ZH$ à~ÝY X) {dHo$ÝÐrH$aU
Mental revolution is the essence of -
A) Combination B) General management
C) Scientific management D) Decentralisation

2) [a³V ñWmZm| H$s ny{V© H$s{O¶o (i go vii) : [6×1=6]

Fill in the blanks (i to vii) :

i) .............. {Z`ÝÌU Ho$ _mZH$m| H$m {ZYm©aU H$aVm h¢& [1]
_________ establishes standard for controlling.

ii) ^Vu EH$ .............. MaU h¢& [1]
Recruitment is a ________ step.

iii) {ZX}eZ EH$ ............ à{H«$¶m h¡& [1]
Direction is a ________ process.

iv) .............. H$m Cn^moŠVm Am¡a ì`dgm` Ho$ {bE g_mZ _hÎd h¢& [1]
________ has same importance for consumer and business.

v) JhZm| na ............. H$mo XoIo& [1]
Look ______ on Jewelry.

vi) ZoV¥Ëd e¡{b`m| Ho$ dJuH$aU H$m gdm©{YH$ bmoH${à` AmYma h¢ ..............& [1]
The most popular classification of leadership style is based on ______.

vii) ’o$¶mob Zo .............. {gÕmÝVmo na ~b {X¶m& [1]

Fayol emphasised _________ principles.
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3) A{VbKwÎmamË‘H$ àíZ : (i go x)

Very Short Answer Questions : (i to x)

i) "à~ÝY H$mo XoIm Zht Om gH$Vm', H¡$go? [1]

'Management can not be seen', How?

ii) "g§JR>Z' eãX H$m AW© ~VmBE& [1]

Mention the meaning of organisation.

iii) EH$ à~ÝYH$ Ho$ én ‘|, {dHo$ÝÐrH$aU H$m EH$ ‘hÎd {b{IE& [1]

As a manager, write the importance of decentralisation.

iv) AmnH$s am¶ ‘|, H$m¶m©Ë‘H$ g§JR>Z ‹T>m±Mm H$hm± Cn¶wº$ h¡? [1]

In your opinion, where functional structure of organisation suitable.

v) H$‘©Mm[a¶m| Ho$ M¶Z ‘|, "ì¶{º$Îd narjmAm|' H$mo g‘PmBE& [1]

Explain the 'Personality Test' in selection of employees.

vi) "A{^àoaUm EH$ AmÝV[aH$ AZŵ d h¡', H¡$go? [1]

'Motivation is a internal feelings', How?

vii) EH$ AÀN>o ~«mÊS> Zm‘ H$s H$moB© EH$ {deofVm {b{IE& [1]

Write any one characteristic of a good brand name.

viii) {dkmnZ H$m H$moB© EH$ bm^ {b{IE& [1]

Write any one advantage of advertisment.

ix) {dkmnZ bmJV ‘| d¥{Õ H¡$go H$aVm h¡? [1]

How advertisment add the cost?

x) ""H¡${dQ> d¢{S>Q>a'' H$m ³¶m AW© h¡? [1]

What is the meaning of ‘Caveat Venditor’?

[ Turn Over



8

6022SS–31–Bus. Studies

IÊS - ~
SECTION - B

bKwÎmamË‘H$ àíZ : (4 go 15) : [13×2=26]

Short Answer Questions. (4 to 15) :

4) à~ÝY Ho$ {H$Ýht Xmo H$m`m} H$mo g_PmBE& [2]

Explain any two functions of management.

5) AmnH$s am` _|, {dkmZ Š`m h¡? [2]

In your opinion, what is science?

6) Am¡nMm[aH$ g§àofU Ho$ {ZåZ V§Ìmo H$mo MmQ>© Ûmam àX{e©V H$s{OE - [2]

A) l¥§Ibm

~) ñdV§Ì àdmh

Show the following network of formal communication through a chart -

a) Chain

b) Free flow

7) AmnH$s am¶ ‘|, {Z¶moOZ VWm {Z¶ÝÌU nañna gå~pÝYV H¡$go h¢? [2]

In your opinion, how planning and controlling are interrelated?

8) g§H$Q> {~ÝXþ {Z¶ÝÌU Ed§ AndmX Ûmam à~ÝY Ho$ H$moB© Xmo bm^ ~VmBE& [2]

Mention any two advantages of critical control and management by exception.

9) ì¶mdgm{¶H$ {dÎm H$m AW© ñnï> H$s{OE& [2]

Clarify the meaning of business finance.
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10) H$m ©̀erb ny±Or H$mo à^m{dV H$aZo dmbo {ZåZ VÎdm| H$mo g_PmBE - [2]

A) ì`dgm` H$s àH¥${V

~) g§MmbZ H$m ñVa

Explain the following factors of affecting requirement of working capital-

a) Nature of business

b) Scale of operation

11) "Q´>oS> ‘mH©$' H$m AW© ~VmBE& [2]

Mention the meaning of 'Trade mark'.

12) {dkmnZ K{Q>¶m CËnmXmo H$s {~H«$s H$mo àmoËgmhZ H¡$go XoVm h¢? g‘PmBE& [2]

How advertising encourages sale of inferior goods? Explain.

13) CËnmXm| H$mo _w»` ê$n go Xmo dJm] _| ~m±Q>m Om gH$Vm h¡, MmQ>© H$s ghm¶Vm go àX{e©V H$s{OE& [2]

Product may be classified into two broad categories, show with the help of a chart.

14) Cn^moŠVm Ho$ {ZåZ A{YH$mam| H$mo g_PmBE - [2]

A) gwajm H$m A{YH$ma

~) gy{MV {H$E OmZo H$m A{YH$ma

Explain the following rights of consumer -

a) Right to safety

b) Right to be informed

15) "{Obm Am`moJ' H$mo g_PmBE& [2]

Explain the ‘District Commission’.

[ Turn Over
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IÊS> - g
SECTION - C

XrK© CÎmar¶ àíZ (16 go 19) : [4×3=12]
Long Answer Questions (16 to 19) :

16) {d‘wÐrH$aU H$s {deofVmAm| H$m dU©Z H$s{OE& (H$moB© VrZ {~ÝXþ) [3]

Describe the characteristics of demonetisation. (Any three point)

AWdm/OR

n¶m©daU Ho$ Am¶m‘mo H$m dU©Z H$s{OE& (H$moB© VrZ {~ÝXþ)
Describe the dimensions of environment. (Any three point)

17) {Z¶moOZ ‘| "~OQ>' go Amn ³¶m g‘PVo h¡? [3]

What do you mean by 'Budget' in planning?

AWdm/OR

{Z¶moOZ ‘| "à{H«$¶m' go Amn ³¶m g‘PVo h¡?
What do you mean by 'Procedure' in planning?

18) AmnH$s am¶ ‘|, à^mJr¶ g§JR>Z ‹T>m±Mo> Ho$ H$moB© VrZ Xmof ~VmBE& [3]

In your opinion, mention any three disadvantage of departmental organisation.

AWdm/OR

AmnH$s am¶ ‘|, à^mJr¶ g§JR>Z ‹T>m±Mo Ho$ H$moB© VrZ JwU ~VmBE&
In your opinion, mention any three advantage of departmental structure of
organisation.

19) AmnH$s am¶ ‘|, ñWmB© ny±Or ³¶m h¡? H$moB© Xmo CXmhaU Xr{OE& [3]

In your opinion, what is fixed capital? Give any two example.

AWdm/OR

AmnH$s am¶ ‘|, H$m¶©erb ny±Or ³¶m h¡? H$moB© Xmo CXmhaU Xr{OE&

In your opinion, what is working capital? Give any two example.
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IÊS> - X

SECTION - D

{Z~ÝYmË‘H$ àíZ (20 go 22) (Xmo gm¡ eãX) :

Essay Type questions (20 to 22) (Two hundred words).

20) à_mnrH$aU Ho$ CÔoí`m| H$m dU©Z H$s{OE& [4]

Describe the objectives of standardisation.

AWdm/OR

à~ÝY {gÕmÝVmo ‘| "gmonmZ l¥§Ibm' H$m dU©Z H$s{OE&

Describe the scalar chain in management principles.

21) AmnHo$ Ñ{ï>H$moU go, à{ejU Ed§ {dH$mg go g§JR>Z H$mo hmoZo dmbo {H$Ýht Mma bm^m| H$mo g_PmBE& [4]

In your point of view, explain any four advantages of training and development to
the organisation.

AWdm/OR

EH$ à~ÝYH$ Ho$ ê$n ‘|, M¶Z à{H«$¶m Ho$ àW‘ Mma MaUmo H$mo g‘PmBE&

As a manager, explain the first four steps of selection process.

22) {dÎmr¶ {ZU©¶ H$mo à^m{dV H$aZodmbo {H$Ýht Mma H$maH$mo H$m dU©Z H$s{OE& [4]

Describe any four factors affecting the financial decision.

AWdm/OR

ñWmB© ny±Or H$s Amdí`H$Vm H$mo à^m{dV H$aZo dmbo {H$Ýht Mma KQ>H$m| H$m dU©Z H$s{OE&

Describe any four factors affecting the fixed capital.


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